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Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 

%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 
ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling mistakes, 
untidiness and illegible handwriting. The figures in the 

margin indicate full marks. 

◊[˝\ˆÁG - Eı 
             Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 20 × 2 = 40 
1. (a) ◊XÃ[˝„Yl˘TˆÁ ÂÃ[˝FÁ A[˝e ◊XÃ[˝„Yl˘TˆÁ ÂÃ[˝FÁÃ[˝ ]ÁX◊ªJÙ‰yÃ[˝ 

aep˚Á ◊VX* Y“]ÁS EıÃ[˝”X Â^ ◊XÃ[˝„Yl˘TˆÁ ÂÃ[˝FÁÃ[˝ ªRÙÁ_ 
@SÁ±¡Eı A[˝e V«◊ªRÙO ◊XÃ[˝„Yl˘TˆÁ ÂÃ[˝FÁ YÃ[˝&Ã[˝„Eı ÊªK˜V 
EıÃ[˝„Tˆ YÁ„Ã[˝ XÁ* 

 (b) ]„X EıÃ[˝”X Â^ AEıLX ◊[˝ªJÙÁÃ[˝[˝«◊à˘a+~ Ây‘TˆÁ ◊X◊V¤rÙ 
VÁ] ◊[˝◊`rÙ ]Áy V«◊ªRÙO V–[˝Ó Â\ˆÁG Eı„Ã[˝* %ÁÃ[˝C ]„X 
EıÃ[˝”X Â^ Ây‘TˆÁÃ[˝ %Á„Ã^Ã[˝ Y◊Ã[˝]ÁSC ◊X◊V¤rÙ* AEı◊ªRÙO 
Y◊Ã[˝õıÁÃ[˝ Y◊Ã[˝¨K˜~ ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó A]X %[˝ÿöˆÁÃ^ Ây‘TˆÁ 

◊Eı\ˆÁ„[˝ \ˆÁÃ[˝aÁ„]Ó ÂYgÏªK˜Á„[˝ TˆÁ [˝ÓÁFÓÁ EıÃ[˝”X* Ây‘TˆÁÃ[˝ 
\ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁ◊ªRÙO %ÁY◊X ÂEı]X\ˆÁ„[˝ ◊[˝‰`¿bS 
EıÃ[˝„[˝X ? %ÁYXÁÃ[˝ =w¯Ã[˝ ^UÁ^U Y◊Ã[˝õıÁÃ[˝ EıÃ[˝”X*  

   10 + 10 

2. (a) ªJÙÁ◊c˜VÁÃ[˝ %ÁÃ^GTˆ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ ◊Eı ? AªRÙOÁ ÂEı]X Eı„Ã[˝ 
Y◊Ã[˝]ÁY EıÃ[˝„[˝X ? ªJÙÁ◊c˜VÁÃ[˝ %ÁÃ^GTˆ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ 
%X«^ÁÃ^› %Á]Á„VÃ[˝ %Á„`YÁ„`Ã[˝ V–[˝Óa]…„c˜Ã[˝ 
Ê`“◊S◊[˝\ˆÁG EıÃ[˝”X* 

 (b) GQÕˆ %ÁÃ^ A[˝e Y“Á◊‹ôˆEı %ÁÃ^ W˝ÁÃ[˝SÁ V«◊ªRÙOÃ[˝ aep˚Á ◊VX* 
◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó %U[˝Á %„·¯Ã[˝ aÁc˜Á„^Ó GQÕˆ %ÁÃ^, 
Y“Á◊‹ôˆEı %ÁÃ^ A[˝e ªJÙÁ◊c˜VÁÃ[˝ VÁ]GTˆ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ 
]„W˝Ó a+EÔı ◊XW˝ÔÁÃ[˝S EıÃ[˝”X* Ac˜O a+EÔı ÂU„Eı 
%ÁY◊X ◊Eı [˝_„Tˆ YÁ„Ã[˝X EıFX Â]ÁªRÙO %ÁÃ^ a[˝ÔÁ◊W˝Eı 
c˜„[˝ ? 10 + 10   

3. (a) Y…SÔÁÜ Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁÃ[˝ [˝_„Tˆ %ÁY◊X ◊Eı 
Â[˝Á„MıX ? AÃ[˝ ]…_ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? Ac˜O Ã[˝Eı] 
[˝ÁLÁ„Ã[˝ ÂEıÁX =dYÁVX Y“◊TˆúˆÁX ◊Eı\ˆÁ„[˝ ÿëˆîEıÁ„_ 
\ˆÁÃ[˝aÁ„]Ó ÂYgÏªªK˜Á„[˝ TˆÁ [˝ÓÁFÓÁ EıÃ[˝”X* 

 (b) ÂLÁGÁX ÂÃ[˝FÁ EıÁ„Eı [˝„_ ? %ÁYXÁÃ[˝ ]„Tˆ Y…SÔÁÜ 
Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝ ÂEıÁX =dYÁVX Y“◊TˆúˆÁ„XÃ[˝ 
ÿëˆîEıÁ_›X ÂLÁGÁX ÂÃ[˝FÁ◊ªRÙO ◊Eı ? %ÁYXÁÃ[˝ =w¯„Ã[˝Ã[˝ 
aY„l˘ ^«◊N˛ ÂVFÁX* 12 + 8 
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4. (a) a«„^ÁG [˝ÓÃ^ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? ^UÁ^U =VÁc˜Ã[˝„SÃ[˝ 

aÁc˜Á„^Ó A◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

 (b) GQÕˆ [˝ÓÃ^ A[˝e Y“Á◊‹ôˆEı [˝Ó„Ã^Ã[˝ ]„W˝Ó YÁUÔEıÓ ◊XÃ[˝÷YS 

EıÃ[˝”X* AEı◊ªRÙO =VÁc˜Ã[˝„SÃ[˝ aÁc˜Á„^Ó %ÁYXÁÃ[˝ =w¯Ã[˝ 

[˝ÓÁFÓÁ EıÃ[˝”X* GQÕˆ [˝ÓÃ^ ÂÃ[˝FÁ A[˝e Y“Á◊‹ôˆEı [˝ÓÃ^ ÂÃ[˝FÁ 

%·¯X EıÃ[˝”X A[˝e ÂaFÁX ÂU„Eı B V«c˜O ÂÃ[˝FÁÃ[˝ ]„W˝Ó 

a+EÔı [˝ÓÁFÓÁ EıÃ[˝”X* 

 (c) Y“Á◊‹ôˆEı [˝ÓÃ^ ◊XW˝ÔÁÃ[˝S EıÃ[˝„Tˆ ÂEı[˝_]Áy Y◊Ã[˝[˝Tˆ¤X›Ã^ 

[˝Ó„Ã^Ã[˝c˜O VÃ[˝EıÁÃ[˝, ◊ÿöˆÃ[˝ [˝Ó„Ã^Ã[˝ VÃ[˝EıÁÃ[˝ c˜Ã^ XÁ ÂEıX ? 

   5 + 10 + 5 

◊[˝\ˆÁG - F 

            Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

5. %◊_„GÁY◊_ EıÁ„Eı [˝„_ ? %◊_„GÁY◊_Ã[˝ È[˝◊`rÙÓm◊_ ◊[˝[˝ Tˆ 

EıÃ[˝”X* a«c˜O◊LÃ[˝ %◊_„GÁY◊_ ]„Qˆ_◊ªRÙO ◊Eı XÁ„] [˝ß_ 

Y“ªJÙ◊_Tˆ ? 2 + 8 + 2 

6. ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó ◊Ã[˝EıÁ„QÔˆÁÃ[˝ FÁLXÁ Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* Ac˜O 

Tˆ„√º¯Ã[˝ ◊[˝Ã[˝”„à˘ Eı„Ã^Eı◊ªRÙO a]Á„_ÁªJÙXÁ =‰{F EıÃ[˝”X* 8 + 4 

7. %ÁY◊X ◊Eı ]„X Eı„Ã[˝X Â^ ^◊V ]L«◊Ã[˝Ã[˝ c˜ÁÃ[˝ Â[˝‰QÕˆ ^ÁÃ^ 

TˆÁc˜„_ `“„]Ã[˝ Â^ÁGÁX %ÁYXÁ%ÁY◊X Â[˝‰QÕˆ ^Á„[˝ ? %ÁYXÁÃ[˝ 

=w¯„Ã[˝Ã[˝ aY„l˘ ^«◊N˛ ÂVFÁX* 12 

8. LÁTˆ›Ã^ %ÁÃ^ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? Â]ÁªRÙO LÁTˆ›Ã^ =dYÁVX C 

X›ªRÙO LÁTˆ›Ã^ =dYÁV„XÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊X„V¤` EıÃ[˝”X* ÂEıÁ„XÁ 

ÂV„`Ã[˝ LÁTˆ›Ã^ %ÁÃ^ Y◊Ã[˝]Á„YÃ[˝ =dYÁVX Yà˘◊Tˆ◊ªRÙO [˝ÓÁFÓÁ 

EıÃ[˝”X* 2 + 4 + 6 

9. "Â\ˆÁG %„Yl˘Eı' [˝_„Tˆ ◊Eı Â[˝Á„MıX ? ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó A◊ªRÙO 

=YÿöˆÁ◊YTˆ EıÃ[˝”X* "GQÕˆ Â\ˆÁG Y“[˝STˆÁ' A[˝e "Y“Á◊‹ôˆEı Â\ˆÁG 

Y“[˝STˆÁ' W˝ÁÃ[˝SÁ V«◊ªRÙO =VÁc˜Ã[˝Sac˜ [˝ÓÁFÓÁ EıÃ[˝”X* 2 + 4 + 6 

10. %UÔ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? %„UÔÃ[˝ EıÁ^ÔÁ[˝◊_ ◊Eı ◊Eı ? %ÁY◊X 

◊Eı ]„X Eı„Ã[˝X %Á]Á„VÃ[˝ ÂV„`Ã[˝ Y«Ã[˝Á„XÁ 500 ªRÙOÁEıÁÃ[˝ C 

1000 ªRÙOÁEıÁÃ[˝ ÂXÁªRÙO AFX %UÔ ◊c˜„a„[˝ G–c˜S›Ã^ ? %ÁYXÁÃ[˝ 

=w¯„Ã[˝Ã[˝ aY„l˘ ^«◊N˛ ÂVFÁX* 2 + 6 + 4 

◊[˝\ˆÁG - G 

            Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

11. "◊G„Zı„XÃ[˝ W˝gÁW˝Á' W˝ÁÃ[˝SÁ◊ªRÙO Y◊Ã[˝õıÁÃ[˝ \ˆÁ„[˝ [˝ÓÁFÓÁ EıÃ[˝”X* 6 

12. "ªJÙÁ◊c˜VÁÃ[˝ YÁÃ[˝&◊Ã[˝Eı ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ' [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 

Ac˜O W˝Ã[˝„XÃ[˝ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ YÁPˆ EıÃ[˝ÁÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ ◊Eı ? 6 

13. "]«V–ÁaZı›◊Tˆ L◊XTˆ ZgıÁEı' W˝ÁÃ[˝SÁ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* ◊ªJÙ‰yÃ[˝ 

aÁc˜Á„^Ó A◊ªRÙO =YÿöˆÁ◊YTˆ EıÃ[˝”X* 6  

14. [˝Á◊SLÓ ªJÙy‘ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? AÃ[˝ ◊[˝◊\ˆ~ Y^ÔÁÃ^m◊_ ◊Eı 

◊Eı ? ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó Ac˜O Y^ÔÁÃ^m◊_ =YÿöˆÁ◊YTˆ EıÃ[˝”X* 6 

15. %Á◊UÔEı X›◊Tˆ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? Ac˜O X›◊TˆÃ[˝ ]«FÓ 

=„VV`Óm◊_ ◊Eı ? 6  

16. EıÃ[˝Á„Ã[˝ÁY X›◊Tˆm◊_ [˝ÓÁFÓÁ EıÃ[˝”X* 6 
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English Version 
 

Group - A 

                  Answer any two questions : 20 × 2 = 40 

1. (a) Define an indifference curve and an 
indifference map. Prove that an indifference 
curve has a negative slope and that two 
indifference curves cannot intersect each 
other. 

 (b) Assume that a rational consumer 
consumes only two commodities with given 
prices and that the consumer has a given 
level of income. Explain with the help of a 
neat diagram, how the consumer can attain 
equilibrium in such a situation. How can 
you interpret the equilibrium situation of 
the consumer ? Make your answer as 
clearly as possible. 10 + 10 

2. (a) What is income elasticity of demand ? How 
can you measure it ? Classify commodities 
around us on the basis of income elasticity 
of demand.  

 (b) Define the concepts of average revenue (AR) 
and marginal revenue (MR). Establish 
graphically or mathematically the relation 
among AR, MR and price elasticity of 
demand. From this relation can you state 
when total revenue becomes maximum ? 

   10 + 10  

3. (a) What do you mean by a perfectly 
competitive market ? What are its basic 
features ? Explain how a firm under this 
market will attain equilibrium in the short 
run. 

 (b) What is a supply curve ? What, in your 
opinion, is the short run supply curve of a 
firm under perfect competition ? 12 + 8 

4. (a) What do you mean by opportunity cost ? 
Illustrate it with an appropriate example. 

 (b) Distinguish between average cost (AC) and 
marginal cost (MC). Explain your answer 
with an example. Draw the AC curve and 
MC curve and hence explain the relation 
between the two curves. 

 (c) Why does the MC contain only variable cost 
and not fixed cost ? 5 + 10 + 5 

Group - B 

                    Answer any three questions : 12 × 3 = 36 

5. What is Oligopoly ? State the features of 
oligopoly. How is Sweezy model of oligopoly 
popularly familiar with ? 2 + 8 + 2 

6. Explain, graphically, the Ricardian theory of rent. 
Mention some of the criticisms launched against 
this theory. 8 + 4 

7. Do you think that if there is an increase in the 
wage rate, there will be an automatic increase in 
the supply of labour ? Give reasons for your 
answer. 12 
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8. What do you mean by national income ? 

Distinguish between Gross National Product 

(GNP) and Net National Product (NNP). Explain 

the product method for the measurement of 

national income of a country. 2 + 4 + 6 

9. What do you mean by consumption function ? 

Graphically represent this function. Explain with 

illustration the terms 'average propensity to 

consume' (APC) and 'marginal propensity to 

consume' (MPC). 2 + 4 + 6 

10. What do you mean by money ? What are the 

functions of money ? Do you think that the      

old notes of the denominations of Rs. 500 and 

Rs. 1000 of our country can still be treated as 

money ? Give reasons for your answer. 2 + 6 + 4 

Group - C 

                   Answer any four questions : 6 × 4 = 24 

11. Explain clearly the concept of 'Giffen's paradox'. 

  6 

12. What do you mean by 'cross price elasticity of 

demand' ? What is the utility for studying it ? 6 

13. Explain the concept of 'inflationary gap'. 

Graphically represent this concept. 6 

14. What do you mean by business cycles ? What are 

its different phases ? Graphically represent these 

phases. 6 

15. What do you mean by monetary policy ? What 

are its principal objectives ? 6 

16. Explain the cannons of taxation. 6 
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